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1) A co-wife

2) No, because one is forbidden to marry his brother’s wife. It's only permitted
as D12 because NWYN XY NMIT NWY - a positive commandment overrides a
negative one

3) When a girl under MmN N2 who was married 12217 cancels the marriage

4) A vn (deaf-mute); a VPR

5) She must get N¥*9N to fulfil the 122717 21°N, and can’t get D12* because she is
exempt NQM1IXTN

6) The sister of the woman who is bonded to you, i.e. awaiting for you to do
nywn/ma

7) D2 N

8) The 122717 AT before DI

9) Yes

10) A divorcee

11) One who can’t have children; N'215'x

12) 9 years (and 1 day)

13) She takes off his shoe; spits; reads D'PID3

14) No, because a man requires understanding and intent to divorce
15)1



